Mg e (D50-D77) PAM EIc &k 327 9 2 %K (cluster #=5)) X1
To~=—Y 1{THE»OEZ 1. 2. 2/7BE» O Ez% 3. 4




Mgz R (D50-D77) PAM iEic Xk 3 27 5 2 %X (cluster #(=5))
ZDOR—Y 1{THEDLGEK 5. 6. 2{THE»OMF% 7. 8




LR (D80-D89) PAM iEiIc & 327 9 2 &K (cluster ¥(=5)) X2
To~=—Y 1{THE»OEZ 1. 2. 2/7BE» O Ez% 3. 4




HIE AP (D80-D89) PAM ikic Xk 3 27 5 2 %% (cluster #(=5))
ZDOR—Y 1{THEDLGEK 5. 6. 2{THE»OMF% 7. 8




N3 % 5 (E00-E87) PAM iEic X 3 7 9 2 XX (cluster $1=5)) 3
o= 1{TEEL O 1. 2. 21T7HED> O 3. 4




N4 % 5 (E00-E87) PAM i%IC & 3 7 9 2 £ (cluster $(=5))
ZDOR—Y 1ITHEDLGEK 5. 6. 2{THE»OMEX 7. 8

5 — 2 UFLL 5 % T %




SIMFEZEE(110-115) PAM EIC X 3 7 7 2 &Z[X (cluster #(=5)) 4
o= 1ITHEDL O 1. 2. 2/THED LK 3. 4




SIMFEZEE(10-115) PAM#EIC X 327 7 2 2K (cluster (=5))
o= 1{THE» DGR 5. 6. 2fTHED» SR 7. 8




A% (I0)PAM =i X 3 7 7 A XK (cluster #(=5))
o= 1ITHEDL O 1. 2. 2/THED LK 3. 4




A% (1I50) PAM ki1 X 3 27 7 2 &[4 (cluster $(=5))
o= 1{THE» DGR 5. 6. 2fTHED» SR 7. 8




RAEEPEREE 4 (M05-M14) PAM #:ic X 2 7 9 2 2K (cluster =5)) 6
TOXR—Y 1{THED» O 1. 2. 2{THED LE 3. 4

T—X7wmy b x T —%[EETX
5




RN RIET 28 (M05-M14) PAM iEIC X % 7 7 2 2K (cluster #(=5))
COR—=Y MfTHE, bR 5. 6. 2{THE»OHEH T, 8




FEREE (M30-M36) PAM EIc X 227 9 24X (cluster #(=5)) 7

il B
o=y 1iTHED» bHEER 1. 2. 21TH D bfiigk 3. 4

T—X7wmy b x T —%[EETX
5




i (M30-M36) PAM EIC X 327 7 2 2™ (cluster $7=5))

fiti e
o=y 1{THE» LIER 5. 6. 2fTHED OHiEk 7. 8




BUREREEE (N00-N19) PAM iEic X 3 27 9 2 #[X (cluster #=5)) X 8
To~=—Y 1{THE»OEZ 1. 2. 2/7BE» O Ez% 3. 4

T—X7wmy b x T —%[EETX
5




EREfE (N00-N19) PAM iLIic X 5 27 7 A %X (cluster #(=5))
ZDR—Y 1{THED a5, 6. 21THAE» LR 7. 8
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